SHAEE BHRAEHERE (2R BRHHE)
N 6H1H(K) 0F7H (k)
| == 48 T = 5IFHH'* 5|rHl-t = 5|rHl-t 5|rHl-t
RE 7:50 B 0.069 0.071 8:40 [55] 0.065 0.069
BHEBNER |REXEDE A58 7:55 S 0.056 0.059 8:45 [55] 0.062 0.064
EREWATR 8:00 B 0.053 0.052 8:50 = 0.055 0.057
Sy IO LT 15:00 £ 0.084 0.078 9:15 ED] 0.071 0.068
PR/ DR |BED L 15:00 ED] 0.072 0.074 9:15 ED] 0.084 0.075
LSk 15:00 ED) 0.083 0.081 9:15 £Y 0.078 0.077
REREE 13:00 Eh 0.058 0.050 13:00 NG 0.056 0.054
MEF/DFER | REXRBEMAE AR 13:00 Eh 0.053 0.049 13:00 INER 0.050 0.048
HBEFE A 13:00 Ei 0.043 0.037 13:00 N 0.055 0.059
BEERE 11:25 Eh 0.065 0.062 6:15 ED] 0.072 0.056
WHBEREE |REXERAE 11:15 Eh 0.051 0.056 6:15 ED] 0.059 0.054
EREWNATR 11:20 Eh 0.061 0.069 6:15 £Y 0.055 0.060
BEMRMTE 8:40 S 0.055 0.047 9:40 ED)] 0.067 0.060
bR |EEEERSE 8:45 S 0.048 0.043 9:45 £l 0.059 0.057
XERIALE _ 8:50 Eh 0.045 0.034 9:50 &Y 0.051 0.049
XHEMGELTIAoas—~)Lk /B (¢ Sv. h) TY,
SHAEE BMHRAEHERE (hhER BRHHE)
N 12878 0K) 3B 1H (K)
| == 48 T = 5IFHH'* 5|rHl-t = 5|rHl-t 5|rHl-t
BRE 8:50 B 0.059 0.061 8:20 B 0.067 0.069
BHEBNER |REXEDE A58 8:55 S 0.052 0.050 8:25 S 0.066 0.067
BESWERNE 9:00 Ei 0.047 0.046 8:30 Ei 0.066 0.073
S G IO LT 9:00 S 0.092 0.086 8:30 S 0.083 0.077
PR/ DNER | BED L 9:00 Eh 0.062 0.060 8:30 S 0.071 0.068
ERETE RS 9:00 Ei 0.083 0.087 8:30 Ei 0.081 0.079
RERSRIE 11:00 Eh 0.060 0.047 10:00 Eh 0.067 0.056
MEF/DFER | REXREMA AR 11:00 Eh 0.055 0.041 10:00 S 0.051 0.050
HBEFE A 11:00 Fh 0.030 0.054 10:00 Ei 0.046 0.054
BEERE 8:50 Eh 0.070 0.057 9:10 S 0.075 0.083
WHBEREE |EXERAE 8:50 S 0.068 0.069 9:00 S 0.072 0.059
BESERNE 8:50 Ei 0.071 0.063 9:05 Ei 0.060 0.072
BERMTE 9:00 S 0.067 0.061 9:00 S 0.055 0.042
bR [EEEERSE 9:05 S 0.051 0.046 9:05 S 0.045 0.037
2 EaifAlE 9:10 Fh 0.050 0.048 9:10 Ei 0.038 0.024
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